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1. _____________ is a way of thinking about problems using models for organize around real world      
concepts.
a) Object Analysis




b) Object Oriented Modelling & Design

c) Object Oriented Testing



d) Object Oriented Debugging

Answer: b

2. Object Oriented Modelling is used for _____________

a) Understanding Problem



b) Communicating application Expert

c) Preparing Documentation



d) All

Answer: d

3. In which methodology, software is organized as a collection of discrete objects that incorporate data structure and behaviour?

a) Object Oriented




b) Traditional

c) WebApps





d) None

Answer: a

4. The term object was first formally utilized in the _____________ language.

a) Simula





b) Latin

c) French





d) Python

Answer: a

5. Classes are an important mechanism for ________________

a) Classifying methods



b) Classifying parameters

c) Classifying uses cases



d) Classifying objects.
Answer: d
6. Each object has an identity, one object can refer to other objects is called _____________
a) Aggregation




b) Inheritance

c) Polymorphism




d) Class

Answer: a

7. Association represents the relationships between _______________ and _________

a) Objects and aggregation



b) Objects and relationships

c) Objects and Classes



d) Objects and methods

Answer: c

8. In Object Oriented Development, the data sharing from one class to other is known as _________
a) Encapsulation




b) Polymorphism

c) Inheritance





d) None

Answer: c

9. ___________ is a named property of a class that describes a value held by each object.
a) Methods





b) Attribute

c) Function





d) Interface

Answer: b

10. Which of the following is true for link and association?
a) It will create relation between classes.

b) Association is a description of group of links.

c) Association name should not be underlined in class diagram.
d) All

Answer: d

11. Which of the following is not a purpose of polymorphism?
a) Providing support for polymorphism.

b) To structure description of object.

c) To enable reusability of code.


d) None of these

Answer: d
12. __________ is a collection of elements without duplication.

a) Order





b) Sequence

c) Bag






d) Link
Answer: a

13. To identify role of each object we can use ______________

a) Association end name.



b) Multiplicity

c) Association





d) Object name

Answer: a

14. _______________ describes group of objects with same properties, behaviour and kind of relationship and semantics.
a) Class





b) Attribute

c) Methods





d) All

Answer: a

15. Properties represent the state of an ___________

a) Class





b) Inheritance

c) Object





d) Attributes

Answer: c
16. The SDLC stands for ____________
a) Software Development Life Circle


b) System Development Life Circle

c) Software Development Life Cycle


d) System Development Life Cycle

Answer: c

17. Which Object Oriented Theme is to handle complexity by hiding unnecessary details form the user?
a) Polymorphism




b) Inheritance

c) Abstraction





d) All

Answer: c

18. ______________ is the same operation may be have differently for different classes.
a) Polymorphism




b) Encapsulation

c) Inheritance





d) None

Answer: a
19. An implementation of an operation by specific class is called ____________

a) Method





b) Attribute
c) Interface





d) All

Answer: a

20. The term UA stands for ____________
a) Unified Approach




b) Uniformed Approach

c) Unified Application



d) Unified Application
Answer: a

21. OMT stands for _____________
a) Object Modern Technique



b) Object Manage Technique

c) Object Modelling Technique


d) Object Manufacturing Technique

Answer: c

22. The OMT consists of ___________ phases.

a) 4






b) 3

c) 2






d) 1

Answer: a
23. In OMT which model is used__________
a) Object Model




b) Dynamic Model

c) Functional Model




d) All

Answer: d

24. The term DFD stands for ____________
a) Data Flow Draft




b) Diagram Flow Draft

c) Diagram Flow Demand



d) Data Flow Diagram
Answer: d

25. The UML stands for ______________
a) Unified Modern Language



b) Uniform Modelling Language
c) Unified Modelling Language


d) Uniform Modern Language
Answer: c
26. OOBE stands for ___________
a) Object Oriented Business Evolution

b) Object Objectory Business Evolution

c) Object Oriented Business Engineering

d) Object Objectory Business Engineering

Answer: c
27. OOSE stands for ___________
a) Object Oriented System Evolution


b) Object Objectory System Evolution

c) Object Oriented Software Engineering

d) Object Objectory Software Engineering
Answer: c

28. Booch methodology covers __________ and __________ phases of the object-oriented system.
a) Design, coding 




b) Analysis, development

c) Analysis, design




d) None of the above

Answer: c

29. OOSE is based on ___________ driven methodology.

a) Use case





b) UML

c) Use case scenario




d) None of the above

Answer: a
30. In OMT functional Model is Presented by ______________________

a) Dataflow and Event flow



b) Dataflow

c) Constraints





d) Dataflow and Constraints

Answer: d

31. Algorithms +data structures= 

a) programs           




b)systems

c)object             




d)function

Answer : a

32. ________ yields important benefit to practice of software construction

a)chart            




 
 b)object

c) windows    





 d)encapsulation

Answer :b

33. Objects are grouped into

a) classes         




 b)attributes

c) chart.           




d)chart&data

Answer :a

34. Each object has_____________ and ___________

a) attributes&methods  



 b)data&object

c) methods objects 




 d)data&function

Answer: a

35. ________is responsible for things like maintaining data and labels

a)function            




b)data

c) bar        





d)chart

Answer: d

36._______allow to create modules of functionality

a)object oriented development 


b)data

c)method 





d)method

Answer: a

37. ___________ is responsible for thing like opening sizing and closing

a) system





b)data

c) programs  





d)windows

Answer :d

38. __________ enables us to create set of objects  that work together

a)software 





 b)object oriented method

c) data method  




d)objects

Answer: b

39.________is a collection of programs and data

a) object.  




 
 b)software

c)data    





 d)method

Answer: b

40.________is a set of mechanism for performing certain action and data

a)method  





 b)data

c)software    





d)objects

Answer:c

41) The method of design encompassing the process of object oriented decomposition is known as: 

a) Object- Oriented Programming


b) Object- Oriented Design 

c) Object- Oriented Analysis 



d) None of the mentioned 

Answer: b 
42) What is the programming style of the object oriented conceptual model? 

a) Invariant relationships



b) Algorithms 

c) Goals, often expressed in a predicate calculus. 
d) Classes and objects

Answer: c
43) The essential characteristics of an object that distinguish it from all other kinds of objects and thus provide crisply defined conceptual boundaries, relative to the perspective of the viewer is called: 

a) Encapsulation 




b) Modularity

c) Hierarchy 





d) Abstraction 

Answer: d 
44) Abstraction is classified into _______ types 

a) 4 






b) 3 

c) 2 






d) 1 

Answer: a 
45) The process of compartmentalizing the elements of an abstraction that constitute its structure and behaviour is called as 

a) Hierarchy 





b) Encapsulation 

c) Modularity 





d) Entity Abstraction 

Answer: b 
 46) Single inheritance, Multiple inheritance, and Aggregation comes under _______ 

a) Modularity 





b) Typing 

c) Hierarchy 





d) None of the mentioned 

Answer: c 
47) In which of the following mechanisms, types of all variables and expressions are fixed at compilation time.

 a) Strong Typing 




b) Weak Typing 

c) Static Binding/ early binding 


d) Dynamic Binding/ late binding 

Answer: c

48) In which of the following mechanisms, types of all variables and expressions are not known until runtime 

a) Strong Typing




 b) Weak Typing 

c) Static Binding/ early binding 


d) Dynamic Binding/ late binding 

Answer: d 
49) Which of the following statements about Persistence is correct? 

a) It is the enforcement of the class of an object, such that objects of different types may not be 

interchanged, or at the most they may be interchanged only in very restricted ways. 

b) It is the property of an object through which its existence transcends time and/or space. 

c) It is the property that distinguishes an active object from one that is not active. 

d) All of the Mention

Answer: b
50) What is that concept in type theory in which a single name may denote objects of many different classes that are related by some common super class referred to ______ 

a) Monomorphism 




b) Type Checking 

c) Polymorphism




 d) Generalization 

Answer: c 
51. Oriented analysis and design can be handled by the one who knows UML.

a) True 





b) False 

Answer: b 

52. At Conceptual level Class diagrams should include 

a) operations only 




b) attributes only 

c) both operations and attributes 


d) none of the mentioned 

Answer: b 

53. Select the statement true for activity diagrams. 

a) They can be used to discover parallel activities 

b) They are used to depict workflow for a particular business activity 

c) Activity diagram do not tell who does what and are difficult to trace back to object models

 d) All of the mentioned 

Answer: d 

54. Constraints can be represented in UML by

a) {text} 





b) [text]

C) Constraint 





d) None of the mentioned 

Answer: a 

55. What is an object? 

a) An object is an instance of a class


b) An object includes encapsulation of data 

c) An object is not an instance of a class 

d) All of the mentioned 

Answer: a 

56. What is an abstract class? 

a) A class that has direct instances, but whose descendants may have direct instances 

b) A class that has direct instances, but whose descendants may not have direct instances 

c) A class that has no direct instances, but whose descendants may have direct instances 

d) All of the mentioned 

Answer: c 

57. Which of the following are the valid relationships in Use Case Diagrams

 a) Generalization 




b) Include 

c) Extend 





d) All of the mentioned 

Answer: d 

58. Which of the following statement(s) is true about interaction diagrams? 

a) Interaction diagrams are at their best when they deal with one main design flow and not 

multiple variants that can happen 

b) Interaction diagrams are good at designing part or all of one use case’s functionality across 

multiple objects

c) Interaction diagrams allow the analyst to show iteration and conditional execution for 

messaging between objects 

d) All of the mentioned 

Answer: d 

59. UML interfaces are used to: 

a) specify required services for types of objects    
b) program in Java, but not in C++ or Smalltalk 

c) define executable logic to reuse across classes   
d) define an API for all classes 

Answer: a 

60. Referring to the attached diagram, the arrow indicates: 

a) Navigability 





b) Dependency 

c) Association 





d)  Diagram

Answer: a 

OOAD & UML - UNIT – 2
1. _____________ is an abstraction of a set of functions that the system performs.
a) Class





b) Interaction

c) Use case





d) Collaboration

Answer: c

2. _____________ is a physical element that exists at runtime and represents a computational resource.

a) Node





b) Actor

c) Name 





d) Object

Answer: a
3. Which one of the following OOAD artifacts is the most useful?
a) Use cases





b) Interaction diagrams

c. Activity diagrams




d. Package diagrams

Answer: a

4. All public methods in business model objects are defined directly or indirectly because of a __________ requirement.
a) Use case





b) Dependency

c) Association





d) Sequence

Answer: a

5. An actor is ___________

a) A person





b) A job title

c) A role





d) A system

Answer: c

6. A person may have function in ____________

a) Only one role




b) One role per system

c) One role per use case



d) Many roles

Answer: d

7. Devices and other systems ______________

a) May be actors





b) May only receive output from a use case

c) May only provide input to a use case

d) Are out of scope because we are describing only one system at a time.

Answer: a

8. Classes are an important mechanism for ____________

a) Classifying objects




b) Classifying classes

c) Classifying parameters



d) Classifying system

Answer: a

9. Expand CRC___________

a) Classes, Resources, Collaborators


b) Collaborators, Resources, Classes

c) Collaborators, Responsibilities, Classes

d) Classes, Responsibilities, Collaborators
Answer: d

10. Nouns are  the _____________ description are considered to be classes.

a) Textual





b) Graphical

c) Interfaces





d) Artifacts

Answer: a

11. Verbs are the methods of ____________

a) Objects





b) Nouns

c) Interfaces





d) Classes

Answer: d

12. The relationship among objects is known as ______________

a) Association





b) Explanation

c) Classes





d) Aggregation

Answer: a

13. Association represents a ___________ and __________ connection between two or more objects.

a) Logical, Physical




b) Logical, Conceptual

c) Physical, Interaction



d) Physical, Conceptual
Answer: d

14. Is- a-part-of-relationship sometimes called __________

a) Aggregation




b) Association

c) Classes





d) Explanation

Answer: a

15. OOA stands for _______________

a) Object Oriented Analysis



b) Object Oriented Application

c) Object Oriented Approach



d) Object Oriented Actor

Answer: a

16. Super substructure also known as _____________

a) Aggregation




b) Association

c) Generalization hierarchy



d) Classes

Answer: c

17. Each object has attributes and ___________

a) Function





b) Methods

c) Procedures





d) All

Answer: d

18. Which of the following describes the behaviour of an object?
a) Method





b) Properties

c) Attributes





d) None of the above

Answer: a
19. Client-server relationship is also known as _____________
a) Consumer producer relationship


b) Class object relationship

c) One to one relationship



d) None of the above

Answer: a

20. The goal of the object-oriented analysis is to identify ___________ and __________ that support the problem domain and system requirement.

a) Classes, objects




b) User problem

c) Entities





d) None of the above

Answer: a

21. In an object-oriented system an object belongs to a ______________

a) Metaclass





b) Function

c) Message





d) All of the above

Answer: a

22. ___________is an object template.

a) Function





b) Method

c) Interface





d) Class

Answer: d

23. Which of the following model represents objects, attributes, and function of the object and the relationship among the objects?

a) Object model




b) Functional model

c) Dynamic model




d) None

Answer: a
24. Use cases are scenarios for understanding _______________

a) System requirements



b) Software requirements

c) Hardware requirements



d) Business requirements

Answer: a

25. A use case is an interaction between __________ and ___________

a) Users and Systems




b) Users and Computers

c) Users and Users




d) Users and Software

Answer: a

26. An association may be ___________
a) unary





b) binary

c) ternary or n-ary




d) All of the above

Answer: d

27. The attribute is associated with the association is called____________
a) Link attribute




b) Derived attribute

c) Multi-valued attribute 



d) None

Answer: a

28. Which of the following is a name that uniquely identifies one end of an association?

a) Label name of the link



b) Link attribute name

c) Role name





d) None

Answer: c
29. A _____________ describes information about and object.

a) Attribute





b) Method

c) Class





d) Aggregation

Answer: a

30. The association stereotype <<Extends>> indicates _______________

a) Delegation of part of a task to another use case

b) The target use case is a subprocess of the source use cases

c) A specialized form of a usecase

d) A derivation from the UML standard

Answer: c
31. Use case descriptions consist of interaction among which of the following? 

a) Product





 b) Use case 

c) Actor





d) Product & Actor 

Answer: d

32. Use case description contents include ______________ 

a) Use case name and number 


b) Actors 

c) Stakeholder and needs 



d) All of the mentioned 

Answer: d 

33. Which of these statements are truly acceptable? 

a) A precondition is an assertion guaranteed to be true when the activity or operation finishes 

b) A post condition is an assertion guaranteed to be true when the activity or operation begins 

c) Trigger is an event which cause a use case to begin

d) None of the mentioned 

Answer: c 

34. Which descriptions are true for the use case description format? 

a) Underline text refers to another use case 








b) Extensions section uses complicated numbering scheme 

c) Indentation is used in order to make extensions easier to read 


d) All of the mentioned 

Answer: d 

35. What are the methods in which use case descriptions can be written? 

a) Actors in a use case are almost always stakeholders 

b) Preconditions must be true before statement begins 

c) Need list should be reviewed when writing each use case 

d) All of the mentioned 

Answer: d 

36. What is true in context to extensions? 

a) Once the basic flow is defined, the extensions can be specified 

b) The alternatives are called extension as they extend the activity flow in a different direction 

from branch point 

c) All of the mentioned




 d) None of the mentioned

Answer: c 

37. The Use case Description Heuristics includes which of these? 

a) Fill in the use case template from top to bottom 

b) Write simple declarative sentences in active voice 

c) Avoid sequence of steps by the actors and product 

d) All of the mentioned

Answer: d 

38. A different alternative must consist of? 

a) Different Actors




b) Different Use cases 



c) Different Overall product functionality 

d) All of the mentioned 

Answer: d 
39. Which of the following statement is true? 

a) Interactions supported by a product are catalogued in a use case description 

b) Interactions are refined in use case diagram 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 


40. Which steps are included in use case driven iterative development? 

a) At each iteration, one or more use cases are selected for implementation 

b) Iteration should be followed until the system is complete 

c) Iterative development builds system functionality gradually through analysis, design, coding, 

testing and evaluation 

d) All of the mentioned 

Answer: d 
41. Choose the incorrect statement in terms of Objects. 

a) Objects are abstractions of real-world 

b) Objects can’t manage themselves 

c) Objects encapsulate state and representation information 
d) All of the mentioned 

Answer: b 

42. What encapsulates both data and data manipulation functions ?

 a) Object 





b) Class 

c) Super Class 




d) Sub Class 

Answer: a 

43. Which of the following is a mechanism that allows several objects in an class hierarchy to have different methods with the same name? 

a) Aggregation 




b) Polymorphism 

c) Inheritance 





d) All of the mentioned 

Answer: b 

44. Inherited object classes are self-contained. 

a) True 





b) False 

Answer: b 

45. Which of the following points related to Object-oriented development (OOD) is true? 

a) OOA is concerned with developing an object model of the application domain 

b) OOD is concerned with developing an object-oriented system model to implement requirements 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 

46. How is generalization implemented in Object Oriented programming languages?

 a) Inheritance.   




b) Polymorphism 

c) Encapsulation




 d) Abstract Classes 

Answer: a 

47. Which of the following is a disadvantage of OOD ? 

a) Easier maintenance 




b) Objects may be understood as stand-alone entities 

c) Objects are potentially reusable components 

d) None of the mentioned 

48. Which of the following describe ”Is-a-Relationship” ? 

a) Aggregation




 b) Inheritance 

c) Dependency 




d) All of the mentioned 

Answer: b 

49. Object that collects data on request rather than autonomously is known as 

a) Active Object 




b) Passive Object 

c) Multiple instance   




d) None of the mentioned 

Answer: b 

50. Objects are executed 

a) sequentially





 b) in Parallel 

c) sequentially & Parallel 



d) none of the mentioned 

Answer: c 

51. What are prototypes? 

a) Prototypes is a working model of part or all of a final product 

b) Prototypes does not represent any sort of models 

c) Prototype can never consist of full size 

d) All of the mentioned 

Answer: a 

52. What are the types of prototypes? 

a) Horizontal prototypes 



b) Vertical Prototypes 

c) All of the mentioned



 d) None of the mentioned 

Answer: c 
53. Which of these is true for prototypes? 

a) Horizontal Prototypes does some processing apart from the required for presenting the product’s user interface 

b) Vertical Prototype realizes part or all of a product’s user interface 

c) All of the mentioned 
d) None of the mentioned 

Answer: d 
54. What are the notations for the Use case Diagrams? 

a) Use case 





b) Actor 

c) Prototype 





d) Use case and Actor 

Answer: d 

55. Which description is inappropriate? 

a) A use case is a type of agent that interacts with a product 

b) An actor is a type of complete interaction between product and its environment 

c) All of the mentioned. 

 d) None of the mentioned 

Answer: c 
56. Which statements are considered correct in reference to use case diagram? 

a) A scenario is an interaction between product and particular interaction 

b) A use case diagram represents a product’s use cases and actors involved in each use case

 c) All of the mentioned d) None of the mentioned 

Answer: c
57. Which among the following can be heuristic for Use case diagram? 

a) Product can be made actor 



b) Never name actors with noun phrases

c) Name Use cases with verb phrases 

d) All of the mentioned 

Answer: c 
58. What is incorrect among the following? 

a) Make use cases that uniform in size and complexity 

b) Organize use cases by actor, problem domain categories 

c) Use cases can last for more than one session 

d) Achieve a stakeholder goal in a use case 

Answer: c 
59. Use case models that can be summarized under which of this category? 

a) Use case Diagram




 b) Use case Description 

c) All of the mentioned 



d) None of the mentioned 

Answer: c 
60. Which of the following statement is true? 

a) Use case diagram is a dynamic model of interaction between product and actors in a use case 

b) Use case Description is a static model of use case supported by a product 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 

OOAD & UML - UNIT – 3
1. A model is a _________________ of reality.

a) Complication




b) Realization

c) Simplification




d) Generalization

Answer: c

2. Models help us to ___________ a system as it is or the way it is wanted.

a) Analyze





b) Design

c) Visualize





d) Measure

Answer: c
3. A collection of operations that specify the services rendered by a class or component known as _____________

a) Class





b) Interaction

c) Interface





d) Collaboration

Answer: c

4. A collection of operations that specify the services rendered by a class or component known as _____________
a) Class





b) Interaction

c) Interface





d) Collaboration

Answer: c
5. Which one of the following is not a structural thing?
a) Class





b) Use case

c) Node





d) Package

Answer: d

6. _____________ can represent the invocation of an operation, a step in a business an entire business process.

a) Activity





b) State machine

c) Use case





d) Interaction

Answer: a

7. The explanatory parts of the UML model are known as ________________

a) Behavioral things




b) Grouping things

c) Structural things




d) Annotational things

Answer: d

8. A link is an instance of _________________

a) Association





b) Generalization

c) Realization





d) Dependency

Answer: a

9. ___________ are used to create new building blocks from existing blocks.

a) Tagged Values




b) Constraints

c) Stereotypes





d) Di agrams

Answer: c

10. In which phase is the scope of the project definition?
a) Inception





b) Elaboration

c) Construction




d) Transition

Answer: a

11. _____________ helps to communicate the overall system architecture unambiguously.

a) Flow charts





b) SRS

c) Templates





d) Designing

Answer: d

12. _____________ is a blueprint for creating an object.

a) Class





b) Dependency

c) Generalization




d) Tagged values

Answer: a

13. Class is rendered as ___________

a) Rectangle





b) Square

c) Circle





d) Ellipse

Answer: a

14. Modelling simple collaboration are in ______________ diagram.

a) Object





b) Use case

c) Class





d) Activity

Answer: c
15. A ___________ is a connection among things.

a) Relationship




b) Stereotypes

c) Tagged values




d) Class

Answer: a

16. A dependency relationship is rendered as a ____________


Answer: d

17. A Generalization relationship is rendered as a ___________________
[image: image1.jpg]



Answer: c

18. _______________ is rendered as rectangle with a dog-eared corner.

a) Note






b) Stereotype

c) Tagged values




d) Constraints

Answer: a

19. Graphically, a stereotype is represented as a name enclosed by __________

a) “ “






b) []

c) >><<





d) << >>

Answer: d

20. Timing requirements are captured by using _____________
a) Note






b) Stereotype

c) Tagged values




d) Constraints

Answer: d

21. Use _____________ diagrams are important to show operation flow.
a) Sequence





b) Use case

c) Collaboration




d) State

Answer: a

22. Collaboration diagram is a ______________ diagram.

a) Interaction





b) Object

c) Deployment





d) Class

Answer: a

23. State chart diagram is used to show the _________________ view of a system.

a) Static





b) logical

c) Process





d) Dynamic

Answer: d

24. Activity diagram shows the _______________ from activity to activity within a system.

a) Sequence





b) Link

c) flow






d) nodes

Answer: c

25. ________________ shows a semantic relationship between two or more classes.

a) Dependency




b) Generalization

c) Association





d) Collaboration

Answer: a

26. Object diagram is used to show the ____________ design view of a system.

a) Static





b) Dynamic

c) Logical





d) Process

Answer: a

27. Sequence diagram shows ______________ view of a system.

a) Sequence





b) Use case

c) Static





d) Dynamic

Answer: d

28. Use case is a special flow of _______________ through the system.

a) Events





b) Signals

c) Nodes





d) Classes

Answer: a

29. Class diagrams are not useful to ____________

a) Model simple collaborations


b) Model the vocabulary of a system

c) Model simple interactions



d) Model a logical database schema

Answer: c

30. Forward engineering and reverse engineering can be applicable to ____________

a) Class diagram




b) Stereotypes

c) Tagged values




d) Adornments

Answer: a

31. What does a simple name in UML Class and objects consist of?

 a) Letters 





b) Digits 

c) Punctuation Characters



 d) All of the mentioned 

Answer: d 
32. What Does a Composite name consists in a UML Class and object diagram? 

a) Delimiter





 b) Simple names 

c) Digits 





d) All of the mentioned 

Answer: d 
33. A Class consists of which of these abstractions? 

a) Set of the objects 




b) Operations 

c) Attributes





 d) All of the mentioned 

Answer: d 
34. A class is divided into which of these compartments? 

a) Name Compartment 



b) Attribute Compartment 

c) Operation Compartment 



d) All of the mentioned 

Answer: d 
35. An attribute is a data item held by which of the following? 

a) Class 





b) Object 

c) All of the mentioned 



d) None of the mentioned

Answer: c 
36. What should be mentioned as attributes for conceptual modelling? 

a) Initial Values 




b) Names 

c) All of the mentioned 



d) None of the mentioned 

Answer: c 
37. An operation can be described as? 

a) Object behaviour




b) Class behaviour

c) Functions 





d) Object & Class behaviour

Answer: d 

38. Which of these are part of the class operation specification format? 

a) name





 b) parameter list 

c) return-type list 




d) all of the mentioned 

Answer: d 
39. What among the following statement is true? 

a) Associations may also correspond to the relation between instances of three or more classes 

b) Association lines may be unlabeled or they may show association name 

c) All of the mentioned





 d) None of the mentioned 

Answer: c 
40. What is multiplicity for an association?

a)The multiplicity at the target class end of an association is the number of instances that 

can be associated with a single instance of source class 

b)The multiplicity at the target class end of an association is the number of instances that 

can be associated with a number instance of source class

 c) All of the mentioned

 d) None of the mentioned 

Answer: a 

41. Which of the following is not needed to develop a system design from concept to detailed object-oriented design? 

a) Designing system architecture


b) Developing design models 

c) Specifying interfaces 



d) Developing a debugging system 

Answer: d 
42. Which of the following is a dynamic model that shows how the system interacts with its environment as it is used?

 a) system context model 



b) interaction model 

c) environmental model



d) both system context and interaction

Answer: b 
43. Which of the following is a structural model that demonstrates the other systems in the environment of the system being developed? 

a) system context model 



b) interaction model 

c) environmental model 



d) both system context and interaction 

Answer: a 
44. Which of the following come under system control?

a) Reconfigure





 b) Shutdown 

c) Powersave 





d) All of the mentioned 

Answer: d 
45. We use ________ where various parts of system use are identified and analyzed in turn. 

a) tangible entities




 b) scenario-based analysis 

c) design-based analysis 



d) none of the mentioned 

Answer: b 

46. Which model describes the static structure of the system using object classes and their relationships? 

a) Sequence model 




 b) Subsystem model 

c) Dynamic model 




d) Structural model 

Answer: d

47. Which model shows the flow of object interactions? 

a) Sequence model 




b) Subsystem model 

c) Dynamic model




d) Both Sequence and Dynamic model 

Answer: a 

48. If the system state is Shutdown then it can respond to which of the following message?

 a) restart() .    





b) reconfigure() 

c) powerSave() 




d) all of the mentioned 

Answer: d 

49. Which message is received so that the system moves to the Testing state, then the Transmitting state, before returning to the Running state? 

a) signalStatus() 




b) remoteControl() 

c) reconfigure() 




d) reportStatus()

Answer: d 

50. Open source development involves making the source code of a system publicly available. 

a) True 





b) False 

Answer: a 

51. The quality attributes can be calculated under which of the following measures? 

a) Observable





 b) Non observable 

c) All of the mentioned 



d) None of the mentioned 

Answer: c 

52. Which of the following can be included under observable measure? 

a) How well the system during execution satisfy its behavioural requirements? 

b) How easy it is to integrate? 

c) How easy it is to test and modify? 

d) All of the mentioned 

Answer: a 

53. Which of the following can be included under Non observable measure? 

a) How well the system during execution satisfy its behavioural requirements? 

b) Does the system functions as desired when connected to other systems? 

c) How easy it is to test and modify? 

d) All of the mentioned 

Answer: c 

54. Which of the following is a correct statement? 

a) A highly modifiable system produces correct results 

b) A highly modifiable system does not produces correct results 

c) A highly modifiable system may or may not produces correct results 

d) None of the mentioned 

Answer: c 

55. Which of the following is considered incorrect with respect to the quality?

a) Architecture is critical to the realization of many of the qualities of interest in a system 

b) All qualities are architecturally sensitive 

c) All of the mentioned 

d) None of the mentioned 

Answer: b 

56. What can stated about Modifiability? 

a) Modifiability cannot be considered largely architectural 

b) Modifiability can never be determined by how functionality is divided 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 

57. What can be stated with regards to performance? 

a) Performance is an example of architectural and non architectural dependencies 

b) Performance depends partially on how much communication is necessary between the components 

c) All of the mentioned

 d) None of the mentioned 

Answer: c 
58. What effect does achievement of quality attribute will have? 

a) The achievement of quality attribute will always have a positive effect 

b) The achievement of quality attribute will always have a negative effect 

c) The achievement of quality attribute will have a positive as well as negative effect 

d) None of the mentioned 

Answer: c 

59. What is the main technique for achieving portable software? 

a) The main technique for achieving portable software is to isolate system dependency 

b) The main technique for achieving portable software is to increase the overall performance

c) The main technique for achieving portable software is to have independent platform dependency 

d) None of the mentioned 

Answer: a 

60. By what methods quality attributes can be judged? 

a) Qualities that can be discerned by observing the system execute 

b) Qualities directly attributable to the system 

c) Qualities about the architecture itself that are important 

d) All of the mentioned 

Answer: d 

OOAD & UML - UNIT – 4

1. __________ are used to model the dynamic aspects of collaborations.
a) Sequence diagrams




b) Structural

c) Interactions





d) Messages

Answer: c

2. Interaction diagrams are of ___________ types.

a) 1






b) 4

c) 3






d) 2

Answer: d

3. A set of messages exchanged among a set of object is called as _______________

a) Use case





b) Activity

c) Interaction





d) Deployment

Answer: c

4. An _______________ shows an interaction consisting of a set of objects and their relationships, including the messages.
a) Interaction diagram




b) Class diagram

c) Use case diagram




d) Activity diagram

Answer: a

5. The behaviour of a system is modelled using _______________

a) Class diagram




b) Use case diagram

c) Interaction diagram




d) Activity diagram

Answer: d

6. Forward Engineering is the process of translating _________________

a) Model to Model




b) Code to Model

c) Model to Code




d) Code to Code

Answer: c

7. Executable atomic computations are called as _______________

a) Action states




b) Activity states

c) Composite states




d) Concurrent states

Answer: a

8. Executable non atomic computations are called as _______________

a) Simple states




b) Transitions

c) Action states




d) Activity states

Answer: d

9. __________ is used to represent concurrent flows in an Activity Diagram.

a) Synchronization bar



b) Slide bar

c) Swim lane





d) Branch

Answer: a

10. In an Activity Diagram, organizing the activities into groups is called ___________

a) Forking





b) Joining

c) Swim lane





d) Synchronization
Answer: c

11. _________________ are used to model records of activities that describe what happened in the past need to be done later.

a) Events





b) Signal

c) Node





d) Object

Answer: a

12. _________________ transitions are handled without causing a change in state.

a) Internal





b) Sub states
c) Name





d) Deferred event

Answer: a

13. Exceptions are _____________
a) Internal Signal




b) State

c) Association





d) Generalization

Answer: a

14. A ______________ represents a named object that is dispatched asynchronously then received by another.
a) Events





b) Node

c) Signal





d) Name

Answer: c

15. A ____________ is an event that represents the passage of time.

a) Events





b) Node

c) Time event





d) Signal

Answer: c

16. Call event represents the of ______________ an operation.

a) Class





b) Use case

c) Dispatch





d) Activity

Answer: c

17. Time event is modelled by the keyword ____________

a) When





b) Signal

c) Change





d) After

Answer: d

18. Change event is modelled by the keyword __________

a) After





b) Time

c) Signal





d) When

Answer: d

19. Exceptions are arranged in ________

a) Hierarchy





b) Sequence

c) Linear





d) Circle

Answer: a

20. ___________ have a lot in common with plain classes.

a) Events





b) Node

c) Time event





d) Signals

Answer: d

21. __________ can model the behaviour of an individual object.
a) Class





b) Use case

c) State machine




d) Activity

Answer: c

22. A ______________ is a behaviour that specifies the sequence of states an object goes through during its lifetime in response to events.

a) Class





b) Use case

c) State machine




d) Activity

Answer: c
23. A ____________ is a condition during the life of an object during which it satisfies performs 
some activity or waits for some event.

a) Class





b) Actor

c) Component





d) State

Answer: d

24. A ___________ is a relationship between two states indicating that an object in the first will enter the second state.
a) Transition





b) State

c) Association





d) Generalization

Answer: a

25. A state that has sub states, that is nested states, is called ____________

a) Composite state




b) History state

c) Target state





d) Source state

Answer: a
26. Inside the states, the events are encountered to handle without leaving the state. This is known as ______________

a) State machine




b) State transition

c) Internal transition




d) External transition
Answer: c

27. _____________ is the state that is active after completion of the transition.
a) Composite state




b) History state

c) Target state





d) Source state

Answer: c

28. _______________ is denotation for the time at which an event occurs.

a) Timing mark




b) Timing constraint

c) Timing Expression




d) Timing response

Answer: a

29. Which of the following evaluates to an absolute value of Time?

a) Timing mark




b) Timing Constraint

c) Timing Expression




d) Timing Location

Answer: c

30. State chart Diagrams are needed _____________

a) When a class has complex life cycle 
b) When the execution of scenario is to be traced

c) To allocate classes and objects to modules

d) To allocate processes to processors

Answer: a
31. Which of the following statement is true? 

a) A transition is a change from one state to another 

b) Transitions may be spontaneous, but usually some event triggers them 

c) An event is a noteworthy occurrence at a particular time; events have no duration 

d) All of the mentioned 

Answer: d 

32. Every finite automaton specification must contain which of the following? 

a) Descriptions of the automaton’s states in a way that allows them to be distinguished, such as 

by naming each one; 

b) Descriptions of transitions indicating each transition source state, its target state, and the 

events that trigger it; 

c) Designation of an initial state, the starting place for state transitions

d) All of the mentioned 

Answer: d

33. What does deterministic and non deterministic automation? 

a) A non-deterministic finite automaton is a finite automaton that has no spontaneous 

transitions and has a single transition that it must make in response to every event in each of 

its states 

b) A deterministic finite automaton is one with multiple transitions 

c) All of the mentioned
 d) None of the mentioned 

Answer: d 

34. Which of the following determines the state diagram? 

a) The UML notation for specifying finite automata is the state diagram 

b) In state diagrams, states are represented by rounded rectangles 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 
35. Which of the following represents the State Diagram? 

a) The finite automaton initial state is designated by a special initial pseudo-state depicted as a large black dot at the tail of an arrow pointing at the initial state 

b) A finite automaton may execute forever or it may halt in a final state 

c) Transitions are represented by solid arrows labelled with one or more transition strings that 

describe the circumstances under which the transition is triggered and the actions.

d) All of the mentioned

Answer: d 
36. Which of the statements state the name compartment? 

a) The first compartment is the name compartment 

b) It contains the state name; State names are optional and may be path names 

c) The name compartment can never be omitted 

d) The first compartment is the name compartment, It contains the state name; State names are 

optional and may be path names 

Answer: d 

37. Which of the following is true? 

a) A state symbol without a nested state compartment represents a complex state 

b) One with a nested state compartment represents a simple state 

c) All of the mentioned 

d) None of the mentioned 

Answer: d 
38. Which of the following are composite states? 

a) A sequential composite state


 b) A concurrent composite state 

c) All of the mentioned



 d) None of the mentioned 

Answer: c 
39. What is sequential and concurrent composite state means? 

a)A concurrent composite state contains a single state diagram composed of sub-states or inner states and the transitions between them 

b)A sequential composite state contains two or more sequential state diagrams in regions separated by dashed lines called concurrent region boundary lines 

c) All of the mentioned 

d) None of the mentioned

Answer: d 
40. Sequential composite states simplify state models in two ways? 

a) They organize states into hierarchies 

b) They consolidate many transitions 

c) All of the mentioned 

d) None of the mentioned 

Answer: c 


41. Which of the following identify high-level services provided by the system.
a) Classes.     





b) Activities
c) Use Cases.  





d) Components
Answer: c

42. Which of the following shape connects the initiating actor to the use case (ending at the use case).
a) Arrow.       





b) Line
c) Arc.        





d) Scribble
Answer: a

43. Animation of a model against the execution of a deployed system is an example of which kind of engineering?
a) business engineering



b) forward engineering
c) reverse engineering




d) temporal engineering
Answer: c

44. Forward Engineering is possible for an Activity Diagram mainly when the context of the diagram is ………?
a) an operation.      




b) a workflow
c) a class.      





d) a use case
Answer: a

45. Use case scenario is a specific sequence of which of the followings?
a) relationships 




b) objects
c) classes.    





d) actions
Answer: d

46. We can graphically represent the scenario of a use case with the help of which kind of UML diagram?
a) deployment diagram.    



b) sequence diagram
c) use case diagram 




d) interaction diagram
Answer: b

47. Uses cases are represented as which of the following shape within the system rectangle.
a) ellipses





b) circles
c) rhombus.             




d) rectangle
Answer: a
48. Behaviour of a system can be modelled with the help of which kind of UML diagrams?
a) class diagram.    




b) activity diagram
c) use case diagram.  




d) interaction diagram
Answer: b

49. Select the best diagram to model business workflows?
a) Deployment diagram.    



b) Activity diagram  
c) Use Case diagram.  



d) Interaction diagram
Answer: b

50. A state machine whose actions are all attached to states is called ________ Activity

 a) activity machine  




 b) Mealy machine 

c) Moore machine 




 d) Component diagram 

Answer: c

51. Modelling elements that can have instances are called ________

a) classifiers 





b) template classes

C) constraints. 




d) template

Answer: a
52. ________ is a mechanism that describes structural and behavioural features. 

a) Classifier   





b) Template class 

c) Constraints       




d) Template

Answer: a


53. Ordinary class, with an additional dashed box in the upper-right corner of the class is a ________

a) classifier





b) Template class

 c) constraints 





d) visibility 

Answer: b
54. The ________ of a feature specifies whether it can be used by other classifiers 

A) classifier 





b) template class 

c) constraints 





d) visibility 

Answer: d


55. The number of instances a class may have is called its ________

a) template class .      




b) constraints 

c) multiplicity 





d) method

Answer: c
56. If the feature of a classifier is prefixed by the symbol "#", the feature is set to be _____

a) public 





b) protected 

c) private 





d) package 

Answer: b
57. Elements are arranged and organized into a ________

a) public 





b) protected 

c) private 





d) package

Answer: d


58. ________ shows a set of objects and their relationships. 

a) Class diagram 




b) Object diagram 

c) Use case diagram 




d) Activity diagram

Answer: b
59.________ is a collection of operations that are used to specify a service of a class or component. 

a) Template class




 b) Constraints 

c) Interface 





d) Visibility 

Answer: c
60. ___________ is a general-purpose mechanism for organizing elements into groups. 

a) Public 





b) Protected 

c) Private 





d) Package

Answer: d

OOAD & UML - UNIT – 5
1. _____________ is a physical and replaceable part of system.

a) Component





b) Deployment

c) Node





d) State

Answer: a

2. Component diagram is used to describe the _________ between various software components of structural diagram.
a) Inheritance





b) Classes

c) Objects





d) Dependencies

Answer: d

3. Component diagrams commonly contain components, interfaces and ___________

a) Objects





b) Nodes

c) Relationships




d) Classifiers

Answer: c

4. Identify the partitioning of the physical system is _________-

a) Modelling executables and libraries

b) Modelling tables, files and documents

c) Modelling source code



d) Modelling primitive types

Answer: a
5. Identify the ancillary components that are part of the physical implementation of the system is ______________

a) Modelling executables and libraries

b) Modelling source code

c) Modelling primitive types



d) Modelling tables, files and documents
Answer: d

6. ____________ visualizes the distribution of components across the enterprise.
a) Component





b) Node

c) State





d) Deployment

Answer: d

7. __________ shows how a system will be physically deployed in the hardware environment.
a) Component diagram



b) Class diagram

c) Use case diagram




d) Deployment diagram

Answer: d
8. _________ is a run-time physical object that represents a computational resource.

a) Component





b) Deployment

c) Node





d) Object

Answer: c

9. Identify the computational elements of system deployment view and model each as a node is ___________

a) Modelling processors and devices


b) Modelling the distribution of components
c) Modelling source code



d) Modelling primitive types

Answer: a

10. For each significant component in the system, allocate it to a given node is __________
a) Modelling processors and devices


b) Modelling source code

c) Modelling the distribution of components

d) Modelling primitive types

Answer: c

11. Components are graphically represented as ________ with tabs.
a) Rectangle





b) Circle

c) Rhombus





d) Square

Answer: a

12. _____________ of every component should be unique, in order to distinguish it from other components.

a) Pattern





b) Components

c) Name





d) Interfaces

Answer: c

13. _____________ represent logical abstractions.
a) Physical things




b) Attributes

c) Classes





d) Interfaces

Answer: c

14. ________________ have only operations which are reachable through their interface.
a) Interfaces





b) Physical things 

c) Attributes





d) Components

Answer: d
15. _______________ form an executable system like dynamic libraries and executable’s.
a) Deployment components



b) Work product components

c) Execution components



d) System components
Answer: a
16. Source code files and data files are contained by the _____________ components.

a) System





b) Execution

c) Deployment





d) Work product

Answer: d

17. _____________ are created as a consequence of an executing system.

a) Deployment components



b) Work product components

c) Execution components



d) System components
Answer: c

18. A ________________ diagram shows the organization of a set of components and their relationship.

a) Component





b) Interface

c) Deployment





d) Architectural

Answer: a

19. Which of the following is does not included in the component diagram?

a) Dependency




b) Generalization

c) Association





d) Aggregation
Answer: d

20. Which of the following is not one of the use of component diagram?
a) To model physical databases


b) To model executable releases

c) To model general view



d) To model adaptable systems

Answer: c

21. Component diagram is a collection of vertices and ____________
a) Edge





b) Bipartite
c) Arcs






d) Squares

Answer: c

22. In deployment diagram, a node is represented as a ___________

a) Cube





b) Cuboids

c) Prism





d) Rectangular

Answer: a

23. In deployment diagram every _________ name is unique.
a) Arcs






b) Edge

c) Squares





d) Node

Answer: d
24. ____________ relationship is used among nodes in deployment diagram.

a) Dependency




b) Generalization

c) Association





d) Aggregation
Answer: c

25. A ____________ shows the configuration of run time processing nodes and the components that live on them.
a) Use case diagram




b) Component diagram

c) Class diagram




d) Deployment diagram

Answer: d

26. A component is a physical and replaceable part of a ____________
a) System





b) Application

c) Aggregation




d) Association

Answer: a

27. An interface that a component realizes is called ____________________
a) Export interface




b) Logical interface

c) Physical interface




d) Binary interface

Answer: a

28. The term API stands for _____________

a) Application Programming Interface

b) Applied Programming Interface

c) Application Programming Interaction

d) Application Programmable Interface

Answer: a

29. A component diagram is a set of components and their ________________
a) Relationships 




b) Aggregation

c) Diagram





d) Program

Answer: a

30. A component diagram is a collection of _________ and ________________
a) Vertices, arcs




b) Matrix, arcs

c) Matrix, Vectors




d) Vectors, arcs
Answer: a
31. ________ is a physical and replaceable part of system. 

a)Component





 b) Deployment 

c)Node






 d) State 

Answer: a

32. Component diagram is used to describe the ________ between various software components of  structural diagram. 

a)inheritance





b) dependencies 

c)classes





d) objects 

Answer:b
33. Component diagrams commonly contain components, interfaces and ________

a) objects 





b) nodes 

c) relationship     




d) classifiers 

Answer: c
34. Identify the partitioning of your physical system is ________

a)modelling executable’s and libraries 

b)modelling tables, files and documents 

c)modelling source code 



d)modelling primitive types 

Answer: a
35. Identify the ancillary components that are part of the physical implementation of your system is 

a)modelling executables and libraries 

b)modelling tables, files and documents 

c)modelling source code 



d)modelling primitive types 

Answer: b
36. ________ visualizes the distribution of components across the enterprise 

a)Component            




b)Deployment 

c) Node 





d)State 

Answer: b
37. ________ shows how a system will be physically deployed in the hardware environment 

a) Component diagram 



b)Deployment diagram 

c) Class diagram




d)Use case diagram 

Answer: b
38. ________ is a run-time physical object that represents a computational resource. 

a) Component 





b) Deployment

c)Node 





d)Object 

Answer: c
39. Identify the computational elements of your system’s deployment view and model each as a node is ________

a)modelling processors and devices


b)modelling the distribution of components

c)modelling source code 



d)modelling primitive types 

Answer: a
40. For each significant component in the system, allocate it to a given node is ________

a)modelling processors and devices 


b)modelling the distribution of components 

c)modelling source code 
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Answer: b

41. Components are graphically represented as ________ with tabs

a) rectangle





b) circle 

c) rhombus 





d) square 

Answer: a
42. ________ of every component should be unique, in order to distinguish it from other components. 

a) Pattern 





b) Name 

c) Components 




d) Interfaces 

Answer: b
43. ________ represent logical abstractions. 

a) Physical things 




b) Attributes 

c) Classes 





d) Interfaces 

Answer: c
44. ________ have only operations which are reachable through their interface

a) Interfaces.       




b) Physical things 

c) Attributes





 d) Components 

Answer: d
45. ________ form an executable system like dynamic libraries and executable’s

a) Deployment components 



b) Work product components 

c) Execution components



d) System components 

Answer: a
46. Source code files and data files are contained by the ________ components

a) system 





b) execution 

c) deployment 





d) work product 

Answer: d
47. ________ are created as a consequence of an executing system. 

a) Deployment components



b) Work product components 

c) Execution components 



d) System components

Answer: c

48. A ________ diagram shows the organization of a set of components and their relationship 

a) component 





b) interface 

c) deployment.       




d) architectural 

Answer: a
49. Which of the following is doesn’t included in the component diagram? 

a) Dependency 




b) Generalization 

c) Association 





d) Aggregation 

Answer: d
50. Which of the following is not one of the use of component diagram? 

a) To model physical databases 


b) To model executable releases 

c) To model general view 



d) To model adaptable systems 

Answer: c
51. Component diagram is a collection of vertices and ________

a) edge 





b) bipartite

c) arcs 






d) squares 

Answer: c
52. In deployment diagram, a node is represented as a ________

a) cube  





b) cuboids 

c) prism 





d) rectangular 

Answer: a
53. In deployment diagram every ________ name is unique. 

a) edge 





b) node

c) arcs 






d) squares 

Answer: b 

54. ________ relationship is used among nodes in deployment diagram. 

a) Dependency 




b) Generalization 

c) Association 





d) Aggregation 

Answer: c
55. A ________ shows the configuration of run time processing nodes and the components that live on them. 

a) use case diagram 




b) component diagram 

c) class diagram 




d) deployment 

Answer: d
56. Which design pattern ensures that only one object of particular class gets created? 

a) singleton pattern.  




b) filter pattern

c) state pattern           




d) bridge pattern

Answer: a
57. Which design pattern suggests multiple classes through which request is passed and multiple but only relevant classes carry out operations on the request?

a) singleton pattern




b) chain of responsibility

c) state pattern 




d) bridge pattern

Answer: b
58. Which design pattern works on data and action taken based on data provided? 

a) command pattern.    



 b) mvc pattern

c) bridge pattern.   




 d) frame pattern 

Answer: a
59. To minimize development cost by reusing methods? Which design pattern would you choose? 

a) singleton pattern      



 b) delegation pattern

c) immutable pattern    



d) adapter pattern

Answer: b
60. Which design pattern defines one-to-many dependency among objects? 

a) singleton pattern   




b) observer pattern

c) bridge pattern. 




d) factory method pattern

Answer: b
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